2018 GSAT

SDOR=

_.|r_n-h. =L
| _
o Ve s
& [ 1
m_u_H H mn_m ﬁ_u \_w
1 = I = =
5 o
Py ol =
— _ — . i
I T e © Te
U =iy et <
£ fo =< & Mo =<
M 4 S T .W.__”_ A = T .W.__”_
S| T Ep et [E— M1 =
I R LR = o BE! >
& & E
2 2
LT §383°
w|2Egh SRiEy




]
rx
Mo
)
T
22
oo
opy
oot
ra
=
0X

Sunz 2018 GSAT AHOE 222/ AL 4

Az | 228% 3 233

53:53;;3 2A4-22 _f_%l ﬁ

- e iy o
v a3 + v A7+ 285
Vvead+4v i+ V28

::;?ﬁi =422 2 A
14 2§ . 4 196

3 " 15 21

58~58p 2A-22

4% 102 2k8=(5vV2—-8vVE8 ) =(8vV2—4v2) =(4V2) =32

4
oX
rx

2435 R — — — —
CkE=(8V2—-2VE ) =(8v2—-4y2)-=4y2) =32
64~64p 3 S
uig 200%0] 10% B7hst3te B2 (140200 = 1.1 < 200 = 220 Ol .
Aol 100
T4 = " 10 |
200%0] 10% 2716t eD 2 1+ —— <200 =1.1 200 =220 0] T},

100/




SD quc 2018 GSAT &5 2 FHEHA 42 U E2CHE AHE SH-7HZTH 44

2| 2F5F¥ T4 42
65~65p 2A-22 | (6) =M
ol s ® TrelY  HeHEI o o8 i r AT a HET WA 9
| teld =ely | tely 2ely |
Helof A i
U7 2.[][][]>x[1+%):2.UUUAD.Q:I.SDD%OIEE 1,800-300=1,500¢0] o 7}
o},
TEE |6 29
@ el JelHEs o 01E 0 or, 71, EElE YA S
| ERE | =2y |
WA A HA
7= 2,000 ,'1—%}—’ 000 < 0.0 =1.500 ¥ 0122 1,800-300=1,500H0] He 7}
olc},
349~349p off A A A
124 2 174 i B ¥~
21 7, 2] . _ -
3 1% %120=1(4.2—1.75+0.25) % 120=2.7Tx 120 = 324
17
(012 —582)+11 %21 =330+-11=30+-21=630
82 40
21 7 2
T T =X 120= (42— 1.75+0.25) ¥ 120 = 2.7 X 120 = 324
D 8
17
(012 —582) +11 %21 =330+11 %21 =30 %21 =630




SDOR=

2018 GSAT &5 2 FHEHA 42 U E2CHE AHE TH-0F

oz | 25/ 23 A +33%
~ st PN
s s TEY | 55
C®Z=(02-22]—2xG6x2=32-24=8
— TolE@®ZI=To8=(8"-2x8)=x(7°-2=xT7)1=4805%=1 680
23% | 35
F®Z=(F"-2 1 —2xBxZ=35-24=8
— TolB@2)I=T08=(8"-2x8)1x (7 -2xT7)=48x35=1,680
3;?;?2? 2A-22 ¢_ng @ ':'5
rE 27 A=, & HA~5 Bl 7F AZl2tn S
r—y=05o0
I, u_3
h 90 2
— r=5, y=43 5km
233
06
r= 2 Agl, & H2E Ell 7F Azleto 59
r+y=ol
T, o u_3
> 90 2
— =5, y=45& hkm
367~367 2X4-22 ES
ﬂ§:40p T%Iﬁ 40
5 B{2) 8 D(4) 17 { JB) 44 HI(8)
T Y2 +31 +32, 433, 0, A Y2 422 UEE 200
F
4% |4
5 B(2) & D4 17 ( B} 44 H(8)
5 Y2 +35, 437, 437 e Fe +28 UEE €00
F




2018 GSAT &Hda& 2 FHdd A 45

23

SO 222 sta0) 2mea

g e AhFan
O L2 =ME US7| 2l6H = 5t= At

50| £[RSLICH




